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alphal3_4eX1X:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004

cyclenum

deltad46_12X4eY:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004
cyclenum

alpha4b_4ey4ay

6336

3335.5

6335

3334.5

6334

3333.5

6333

3332.5

6332

alpha46_4eY4aY:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004

cyclenum

run:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004
cyclenum

deltal3_lzx4ex

segment

o
o

25

15

05

deltal3_12X4eX:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004
cyclenum

segment:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004
cyclenum




USI_1A

usi_4ey

0.5

=

usl_1X:cyclenum {run == 6334}

P -
e e e eeeeamaenaaaaan .-

6002 6002.5 6003 6003.5 6004
cyclenum

usl_4eY:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004

cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004
cyclenum

usl_12X:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004

cyclenum

usl_sex

6336

3335.5

6335

3334.5

6334

5333.5

6333

3332.5

6332

usl_4eX:cyclenum {run == 6334}

[

6002 6002.5 6003 6003.5 6004
cyclenum

run:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004

cyclenum



USI_L1A

usI_aey

0.5

=

usr_1X:cyclenum {run == 6334}
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6002 6002.5 6003 6003.5 6004
cyclenum

usr_4eY:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004

cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004
cyclenum

usr_12X:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004

cyclenum

usr_aex

6336

3335.5

6335

3334.5

6334

5333.5

6333

3332.5

6332

usr_4eX:cyclenum {run == 6334}

[

6002 6002.5 6003 6003.5 6004
cyclenum

run:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004

cyclenum
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usi_cont

0.5

1016.5

-1017

1017.5

-1018

1018.5

usl_coill:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004

cyclenum

usl_caoil6:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004
cyclenum

[

usl_cols

0.5

5168.4

5168.2

15168

5167.8F

5167.6

5167.4

5167.2

15167

5166.8

5166.6

>166.4

5166.2F

usl_coil3:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004
cyclenum

usl_coil7:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004

cyclenum

[

usl_coll4

05

6336

3335.5

6335

3334.5

6334

5333.5

6333

3332.5

6332

usl_coil4:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004
cyclenum

run:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004
cyclenum
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usI_cont

0.5

-516

-516.5

-517

-517.5
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usr_coill:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004

cyclenum

usr_coil6:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004
cyclenum

[

usr_col3

0.5

9580.8

9580.6

)580.4

9580.2

19580

9579.8f

9579.6

)579.4

9579.2

19579

9578.8

9578.6

usr_coil3:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004
cyclenum

usr_coil7:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004

cyclenum

usr_coll4
=
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6336

3335.5

6335

3334.5

6334

5333.5

6333

3332.5

6332

usr_coil4:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004
cyclenum

run:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004
cyclenum
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1X_coill:cyclenum {run == 6334}
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6002 6002.5 6003 6003.5 6004

cyclenum

4eX_coill:cyclenum {run == 6334}
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cyclenum

1X_coll3

ho)
5]
o
X
)
<

[

0.5

[

1X_coil3:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004

cyclenum

4eX_coil3:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004
cyclenum
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20.5

19.5

19

120.5

20

19.5
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18.5

1X_coil7:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004

cyclenum

4eX_coil7:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004
cyclenum




4dY_consd

4eY_cond

4aY_coild:cyclenum {run == 6334}

[
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] SO S A A

6002 6002.5 6003 6003.5 6004

cyclenum

4eY_coild:cyclenum {run == 6334}
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6002 6002.5 6003 6003.5 6004
cyclenum
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4e Y _Cullo

374F

37.2F

37

36.8F

36.6

36.4

36.2

36F

35.8

35.6LC

4aY_coil6:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004
cyclenum

4eY_coil6:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004
cyclenum

4aY_coil7:cyclenum {run == 6334}

PO S I I A S I
: 6002 6002.5 6003 6003.5 6004
cyclenum

4eY_coll/
S
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4eY_coil7:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004
cyclenum
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12X_coill:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004
cyclenum

12X_coil6:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004

cyclenum

12X_coil3
=

0.5

-423

-423.5

-424

-424.5

-425

12X_coil3:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004

cyclenum

12X_coil7:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004

cyclenum

12X_coll4
=

05

6336

3335.5

6335

3334.5

6334

5333.5

6333

3332.5

6332

12X_coil4:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004
cyclenum

run:cyclenum {run == 6334}

6002 6002.5 6003 6003.5 6004
cyclenum
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